

Ex 2) $\log _{3}(5 x-1)=\log _{3}(x+7)$

$$
\begin{aligned}
& 5 x-1=x+7 \\
& -x \quad-x \\
& \hline 4 x-1=7 \\
& +1 \quad y 1 \\
& \frac{4 x=8}{4} \frac{1}{4} \\
& x=?
\end{aligned}
$$

$$
\begin{gathered}
\text { Ex } 3) \frac{2 \log _{5}(3 x)}{2}=\frac{4}{2} \\
\log _{5} 3 x=2 \\
3 x=5^{2} \\
\frac{3 x}{3}=\frac{25}{3} \\
x=\frac{25}{3}
\end{gathered}
$$

$$
\begin{aligned}
& \text { Ex 4) } \begin{array}{l}
\ln (x-2)+\ln (2 x-3)=2 \ln x^{6} \\
\ln [(x-2)(2 x-3)]=2 \ln x \\
\ln \left(2 x^{2}-7 x+6\right)=\ln x^{2} \\
2 x^{2}-7 x+6=x^{2} \\
-x^{2} \\
x^{2}-7 x+6=0 \\
(x-6)(x-1)=0 \\
x-6=0 \\
x-6 \text { x-1=0 }
\end{array} \quad \begin{array}{l}
x-1
\end{array}
\end{aligned}
$$

$$
\begin{aligned}
& \text { Ex 5) } \log _{10} 4 x-\log _{10}(12+\sqrt{x})=2 \\
& \log _{10}\left(\frac{4 x}{12+\sqrt{x}}\right)=2 \\
& x-25 \sqrt{x}-300=0 \\
& a=1 \quad b=-25 \quad c=-300 \\
& \frac{4 x}{12+\sqrt{x}}=10^{2} \\
& \sqrt{x}=\frac{-25 \pm \frac{625-1200}{\left.(-25)^{2}-4(0) 300\right)}}{2(1)} \\
& \frac{4 x}{1+4}=\frac{100}{1} \\
& \left.\begin{array}{r}
4 x \\
-1200-100 \sqrt{x}
\end{array}=120041200 \sqrt{x}\right) \\
& \frac{4 x}{9}-\frac{100}{y} \sqrt{x}-\frac{12000}{9}=0
\end{aligned}
$$

